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1. Which of the following is a row matrix?

(a) matrix P of order 2x2 (b) matrix

2. The order of a matrix is 2x3, [t pyg -
(a) 5 elements

Q of order 1x2 (¢) matrix R of order 2x1 (d) matrix S of order 3x2

(b) 6 clements - (c) 1 element (d) none of these

4 -2 35
.1fA=[ },B= = o 9
3 3 7 [_4 _2}’(: [_2 4 |» then the value of A+ B — C is :
6 6
@ |5 4

6 1 6 0
(a) [3 0} (b) [3 1] () [6 3}

0 1
4. If 3[4 x]+2[y -3]=110 0], then :

@ x=1y=0 ®) x=-1,p=—3 (© x=2,y=-1 @x=-2,y=1
5. Order of matrix A is 2 x 3 and the order of matrix B is 3 x 1. The order of the matrix AB is:
(2) 2 x 1 (b) 1 x2 © 3 %1 (d)2x3
6. Which of the following is a diagonal matrix?
0 6 I 2.0 0 @0
@ |2 0 4 ® |0 -1 o (@[400} (@ (0 11
180 0 0 -2 o g Ol

7. In a null matrix :
(a) all the elements are 0
(c) every non-diagonal element is 0

8. [189]isa:

(b) every diagonal element is 0
(d) every element is 1.

(2) row matrix (b) column matrix (c) diagonal matrix (d) null matrix
2 -1 4
9. The transpose of matrix | 1 7 3] is:
-4 1 5
2 1 4 2 4 -] -1 4 2 2 1 -4
(@ |-11 5 (b)[137 () |7 3 1 @l-1 7 1
4 7 3 -4 5 1 l -4 4 3 5§
10. The order of matrix A is 2 * 3 and that of B is 3 = 1.
(a) AB is possible, but BA is not possible (b) BA is possible but AB is not possible
(c) AB as well as BA are not possible (d) AB as well as BA are possible

:

3 -5 6 2 b =2 -3 5
(2) [0 6} () [_1 4} i {—4 li\ © {0 —6}
12. IfA= [2 5}, B = { : _l}, then AB is equal to :
1 3 2

-13 5 § -1 -13 8 -1 0
(a) |: 1 8] (b) {5 2} (C) ‘:_8 5} (d) {7 _2}
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B3ora=]> Y go|t 2 hen the order of 3A — 2B is :
; =ls ¢|"B=|s | then the ordero —-2Bis:

(@ 2 x1 (b) 4 x 4 (c) 1 x2
25 1 -3
14. IfA= [_3 7J,B= [2 5},thenB—Ais equal to :
4 -1 -1 -8 -1 8
(@) [6 —ZJ (b) [5 _2] (c) [5 4]
2 1
1s. If M=11,-2], N= [_1 2] , then the order of MN is :
(@ 1x2 () 2 x1 () 1 x1

-2 3 5 2
16. IfA = [4 5:’, B= [__7 3J, then transpose of matrix (A + B) is :

3 5 3 =3 3 8
@ | 8] (b) [5 8.} © [_3 5}

2 1 5 -1 .
17. IfA= ,B= , then AT — BT is equal to :
-1 4 2 -1

1 -1 7 -1 -3 -1
@ [4 2J ®) [2 5J ©) [2 4]

1 2 x 0 x 0
18. If A= ,B= and AB = , then the order of the matrix BA is :
3 3 0 y 9 0

(a 1x2 (b) 2 x 1 (c) 2x3
2 0 0 1 . .
19. IfA= 3 1) B = 2 3] then the matrix BA is :
o 1 -4 5 3 5
b
@ [_13 3J (®) [_2 7} © { : _7}
x 3 1 0
20. IfA = and A2 = 31, where I = the order of A2 is :
y 3 0 1
(a) 2 x2 (b) 2 x3 c) il %2
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(d) 2 x 2

2 4
@ [—1 —2]

()22

35
@5 3

(d)2x2

o [ =1
()219}



